
( 2. 8-2. 9)

20100729 

2010/7/29 1



•

• ( )

•

•

•

•

2010/7/29 2



Lorentz

• Lor ent z

• 2 ( S, S )

• 4 ( s2=const . )

• 6 ( 4 4 )

• S S

• Mi nkowski

• s2=const . ( Lor ent z )

• Eucl i d ( 3 )

2010/7/29 3



•

• ( )

•

2010/7/29 4

•

•

•



•

•

•

• 0. 5 1/2

•

• ( )

•

2010/7/29 5



• 4 4

• ( )
-> 2

•

• Lor ent z

• Lor ent z

2010/7/29 6



• A B 4*4*4 64

•

• Lor ent z

• A, B

• OK

• 2

•
2010/7/29 7



• 2 ( )

• C ( 5 )

• C 43 42=1024

• ( )

• A

•

1

2010/7/29 8



•

2
( Ei nst ei n )

•

•

• Lor ent z

2010/7/29 9



• hmn -> 

•

•

• hmnA
n Am

• n=0 A0=-A0

•
2010/7/29 10



• 4 A

( )

• Mi nkowski

•

•

•

• ( )

•

2010/7/29 11



2010/7/29 12

• x0: ( ct )

• x1 , x2 :

A2 <0

A2 >0

A2 >0



• 4

x ( )

•

• det =-1( )  ->S =-S :

•

• 3 ( )

• ( )
2010/7/29 13



2010/7/29 14

＝



• 4 Tlmnr
• T

• T0123 T= -T1023 ( )

= T2013 ( )

T0023 = T0122 = 0

• 0 +T -T

• T Lorentz

• -> T

2010/7/29 15



•

• 4

• = { 12*( -1) *( -T) +12*1*T} /24

•

• E

• E

–

2010/7/29 16


